—_RCl OFFROAD_Xx~\

RCI 24+ Land Cruiser Diff Skid Installation Guide

TEM | PART
No. | NUMBE2 DESCRIPTION QY.
1 SM-00930 24+ LC Diff Skid 1
24+ Tacoma Diff Bottom Axle
2 5M-00793 Clamo 2
3 SM-00931 24+ LC Diff Top Axle Clamp 2
4 HK-00049 KIT: DIFFERENTIAL HARDWAREKIT | 1
41 | HW-00035| 3/B-16 X 1-1/2 CARRIAGE BOLT 4
42 | HW-00052 3/8-16 X | CARRIAGE BOLT 4
43 | HW-00024 3/8 USS FLAT WASHER 8
4.4 | HW-D0029 3/8 SPLIT LOCK WASHER 8
45 | HW-00030 3/8-16 FIN HEX NUT 8
5 .EJ(-DOODI P81 4x4 UM DIFF [TO‘I’OTA DIFF SKID] 1
' _188MS 24+ LC Diff Lower Pinion
6 SM00952 Clomp 1
.188MS 24+ LC Diff Top Pinion
7 5M-00953 Clamp P1.0 1

UMLESS OTHERWISE SPEC FIED. PROPRETART AND CONADERTIAL MAME DATE
DRAWK £l [EALE]

DUMENSINS AHE I IHCHES [ HRCRAATEN EORTARED M
e [IEAWG £ THE SCLE FROPERTY 0F Export Date
ANGULAR: BERE £05 RCICHliccsel. AMY REPROCUCTICN
AR ", PART CIR &5 CUF WITHEAT THE
I FLAL S LIELIRAA. - LS wt.uL:.tuf.:,Er'u :):”& L':'I-:m '
HREE PLACE DECIMAL +3.010 | ¢ eermqurens 1/27 12025

TITLE:

24+ LC Diff Skid BOM
REV
llerm Nurnber -
FG-00549 LC-24-DIFF-3TBK

D SCIT SCALE DRAWING

SCALE: 1'8 WEIGHT: 21.87  SHEET1OF 1



—_RCl OFFROAD_Xx~\

**Use hand tools, impact wrenches may cause damage if over torqued.**

INSTALLATION STEPS:

1. Begin by unpacking and removing all components and hardware. Please verify
that all hardware, components, and mounting components are present. Please
reference your original order invoice and verify all items are accounted for.

2. Using 2 sets of the included 3/8” x 1” carriage bolt, washer, split washer, and nut,
secure the lower pinion clamp to the differential skid plate.

a. Ensure the lower pinion clamp is centered on the differential skid plate and
the edge of the differential skid plate mounting flange is pushed as close
to the bend in the lower pinion clamp as possible.



—_RCl OFFROAD_Xx~\




=_RCl OFF ROAD_ X\

3. Using another set of the included 3/8” x 1” carriage bolt, washer, split washer,
and nut, loosely secure the upper pinion clamp to the lower pinion clamp.

4. Lift the differential skid plate into position below the rear axle/differential with the
differential skid plate pinion clamps wrapping the front of the vehicle differential
housing. Then, secure the other end of the upper pinion clamp to the lower pinion
clamp Using another set of the included 3/8” x 1” carriage bolt, washer, split
washer, and nut.

a. Tighten the hardware securing the upper pinion clamp to the lower pinion
clamp.



—_RCl OFFROAD_Xx~\




—_RCl OFFROAD_Xx~\

5. Remove the bolt securing the vehicle brake line to the rear axle

6. Insert the upper axle clamp on the driver side at an angle to allow the mounting
face of the axle clamp to drop in between the rear sway bar and the rear axle.



—_RCl OFFROAD_Xx~\




—_RCl OFFROAD_Xx~\

7. Gently pull the brake line towards the rear of the vehicle to allow the upper axle
clamp to drop in between the rear axle and brake line.




—_RCl OFFROAD_Xx~\

8. Slide the passenger side upper axle clamp into position above the lower
passenger side axle clamp




—_RCl OFFROAD_Xx~\

9. Use the 4 sets of 3/8” x 1.5” carriage bolts, washers, split washers, and nuts to
secure the differential skid plate to the rear axle




—_RCl OFFROAD_Xx~\

Enjoy your new RCI protection!

= C AT

Share your new install with us on social media!

We love seeing our products out in the wild!

www.rcimetalworks.com
sales@rcioffroad.com
970-797-3089

REV: 1 9/29/2022

Disclaimer: The products seld by RCI Metalworks are intended for off —read use only, should not be modified, and are for use only on the vehicle(s) specifical
stated. RCI Metalworks makes no warranties express or implied, including of fitness for a particular purpose or merchantability. RCI Metalworks will not be li
for ary damages arising out of the use or misuse of its products. It is the customers' responsibility to ensure the products are safely and properly attached to
viehicle, and all products should be installed by trained professionals. We strive to maintain extremely high-guality standards; however, all RC1 Metalworks
products are individually handcrafted, may vary slightly, and may contain minor imperfections. Due to the nature of raw aluminum, the material may have m
scratches and other bBlemishes cavsed by the manufacturing process, especially on the back side of product. RCI Metalworks is constantly seeking to improw
products and reserves the right to make changes to any product.



mailto:sales@rcioffroad.com

